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paragraph, which do you Earth’s average temperature ha

think this passage will ¢ half of this change has taken place in just the last 25 years, Mormver,

ainl lora) years. Bu 1
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2 One is the melting of the polar ice caps. Pictures taken by the National Aeronaytie

and Space Administration (NASA)
Region is rapidly shrinking. In fact, the polar ice caps have melted faster in the |5

in the last 10,000. If the trend continues, the Arctic will contain ne

show that the ice covering the North Polas

20 years than
2. This paragraph describes ice during summer by mid-century. Melting ice caps could, in turn, have a dramatic

a causal chain. Fill in the effect on sea levels. A comprehensive satellite study confirms that the melting ice

missing link in the chain. /e : :
. caps are raising sea levels at an accelerating rate. Levels have risen between four ang
warming trend ‘ . 3
3 , eight inches in the past century alone, and the EPA estimates that they could rise 2
i much as another two feet in the next 100 years. In the U.S., this change will be felt

melting of ice caps !

most strongly by coastal cities such as San Diego, Galveston, Miami, and New York,

Such low-lying cities could experience massive flooding.

3. Which word signals .3 Major changes in climate could also affect agriculture. For instance, in the U.S.
a cause-and-effect Mi ;
: , idwest, which grows much of : i
relationship between ‘ i gr the country’s grain, warmer weather may cause
warmer weather and smaller crop yields. That would mean that the amount of grain harvested per acre of

the time that a seed has
to grow and mature? v
Underline the word. seeds have less time to grow, mature, and producc large, strong plants. Warming

| land would decrease. Grains grow more quickly in warmer weather; consequently,

trends could also increase the incidence of extreme weather, such as severe storms

and drought. This would have a negative impact on crops too.




Although the Earth's climate has always been in a state of change, the rate of 4. s this paragraph mainly
about an effect or a

ange has accelerated because of the actions of human beings. Earth is getting cause of global warming?

rmer because people are adding heat-trapping gases to the atmosphere, mainly (Check v one.)
.fiby purning fossil fuels such as coal, gasoline, and natural gas. [ Cause
» {J Effect

Underline the signal word
o one knows exactly how these changes will affect Earth, It depends partly on that tells you so.

.' how the Earth responds to the pollutants that are already in the air and partly on
'whcthcr people around the world choose to make lifestyle changes. We can cut back
on our use of fossil fuels, or we can ignore the warning signs and go on living as we

have been, gambling on what will happen. Either way, changes are taking place.
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YV ([ Read the passage. Answer the questions that follow.

1

Ecology of the Redwood Forest

The redwood trees that grow along the coast of northern California and g
Oregon are the tallest trees in the world. They grow up to 360 feet tall—qg
35-story building. These trees also grow old. In fact, scientists think the oldes
we know about have lived more than 2,000 years. While the size and age of ¢

trees make them intriguing, the ecology of the ancient redwoods is also fage;

The redwoods grow in a unique environment along the coast. It is characterigeq .
by frequent, dense fog. This fog helps create conditions that make it possible fo;
the giant trees to survive and to grow large and old. When the fog moves intq the
forest, it condenses, or collects, on the foliage of the redwoods. The trees absorh, ‘
some of the water through their needle-like leaves. The rest of the water drips ontg
the lower branches and onto the ground below. The fog provides up to 45 percent of

the water used each year by the trees.

Summers are the driest time of the year in this region. Because the redwoods
capture moisture from the fog, other plants and animals thrive in the area. Moisture
captured from the fog by the redwoods supplies two-thirds of the water used by the
trees, bushes, and other plants that grow below the huge trees. The fog creates an
environment where the redwood trees can survive, and the trees, in turn, improve

on the conditions, making it possible for other living things to survive too.

Within this special environment, something else is happening high in the canopies,
or tops, of the redwoods. The trees lose about a third of their foliage each year.
Some of that discarded foliage falls on lower branches, where it collects. Slowly, the
foliage rots, creating rich soil. Plants called epiphytes grow in this soil. Epiphytes
are plants that grow on other plants rather than on the ground. Because redwoods
live so long and get so large, they provide soil for large communities of plants that

live hundreds of feet up in the canopy. Among these plants are various kinds of

5 Allrights reserved.

ferns and fungi. Even some bushes and trees grow up there.



great blue herons.

In the mid-1800s, redwood forests covered about two million acres in O
regon

' rees and logged them
extensively. Today, only four percent of the original redwood forests remain Some

forests are growing back. However, the young trees in these fo

and California. Then, timber companies discovered the ¢

rests are not big
enough or old enough to create the special environment foun

d among older trees.
As a result, the land has changed. The soil js drier and the str

eams carry less water.
So plants and animals that thrive in old redwood forests do not do as well in the

new ones.
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(=i TN il Circle the letter of the option that correctly answers.each question.

1.

Which is a cause of the unusual growth of the redwoods?

A. dry summers
B. frequent fog

C. falling foliage
D. dense canopy

Which explains why redwoods can support epiphytes?

A. Foliage from the trees falls on the tree branches and rots, producing soil.
B. Various kinds of ferns and fungi grow, creating canopies in the treetops.

C. Beetles and earthworms enrich the soil, making it conducive to plant life.
D. The thick foliage filters the sunlight, protecting plants from intense heat.

Which are effects of the loss of old redwood trees?

A. There are more animals but fewer plants.

B. Newts and salamanders now live on the ground.
C. There are no canopies, so birds have left the forest.
D. The soil is drier, and the streams carry less water.

. Answers and explanations start on page 76.
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